Physics 481: Condensed Matter Physics - Homework Solutions 3

HOW&WD*"A 3 I

= g ‘j. a{?_ —% - (.
01) 4, (3) 1 g < (aE{Z) | a,

- Pr‘-m‘.f;gt (,tz% V.)Lt-"‘ﬂ-L

- \ -\) -y 4 ki o

7
\ql‘ (at‘x ’l}) ‘fl ﬁ.ﬁ/lo = BL-IH‘C
o o C
S 4y S0 g L B~ ,.)
= = _
o R {? Th f( 3 (l“* Y

? Ll i D A 2o ° |

= oo C e — T

Z 4 -

R oo o ﬁa‘t('q ] “(é@)

Y oa 7

:6:) W n oo% ~ ; R LT 2| °
_ . Jho

A > | hhe L Rale ¢C{°

{
=3
(Qz A\k‘}




£ x 1!«%\“0&,\1

é (hiﬂzaa j

=5 -
. = ' ‘
4(%&*"‘1%*“3%)‘ (“/hahﬁ,”t

W hta,

$ 4 g ) (,)thr» +s )
i o ,L
Ny V-l ple [ 3 gy e

\u

/

/ 4

(€]



.y o
< enq.(wﬂfuj);) _ | [ (:0\(
[c €4]
| : e ef) fogr ar o
A SO } (I i) fog? a0
< £ 1 (,(’L( ""‘-J )> = (;.:2—2) J’ﬂblcﬂ(/[\) ¢ ¢ ?(&‘{J
¢ 1
_[_/[_5- e s W SR
s ( | )%Sﬁa’lg@ ZE \Soquj ¢ o 14
= =
CUMP&/"{“ '“q& S?A_qra S 42( C)EVOHJM;
2,2 P4 T L
LA - =y . _4q A
<Cﬁf‘(h‘—q3}> = @ =4 ¢ q — ]
A
}(’ -3\ —- o . A .
<q(})/ - S(jf) e 3 ( TN ( - 4=¢))
b &
Vel fealn @Lé}L L)t Jhé‘or

P'i‘;‘éﬂ Ji..(ﬁ{ g}'Lr,r(_)



